~ 01-013/01-014

REAR FLIP SEAT

WILL FIT YAMAHA® G-22®
INSTALLATION INSTRUCTIONS

INCLUDED:
C \—/7
— ot Back _ EIIIEITITINTIITS
ean Back Cushion Brackite e Bracket
Brackets Footrest
3 ’ Seat Back Support \
Seat Bottom Cushion - ‘ ‘
2 Footrest
Bagwell Bracket Seat Frame 2 Armrests Brackets

Take off canopy by removing upper strut
hardware that secures canopy to front
and rear struts. Retain hardware.

Remove OEM front seat backs. Remove ¥
lower strut bolts and remove rear struts
and retain struts and hardware. N\

New struts are provided for models that
will not utilize factory rear struts. /é




Remove OEM front seat supports.
Retain hardware.

Remove front seat bottom.

Insert main brackets into holes where
OEM front seat supports were removed.
Be sure the tabs are pointed to the cart’s
CENTER (see picture A). Secure the
main brackets with hardware retained in y

Step 5. \/4‘




/

A

\ Remove bagwku bolts. The using a 5/16
ill bity. dri rofrgh the”vehicle frame
heret ardware was removed.

Reinstall motor cover.

Attach bagwell bracket using hardware
from Pack 1.

IMPORTANT: Do not tighten hardware &
until Step 17 is complete. .
Place seat frame on cart. Attach seat

frame to main brackets using hardware

from Pack 1.




'\

AtﬂKh{;eat fr&me to bagvxLeII @t
us ardwa er Pack 1. Ensure
at the m of the tframe lies in

front of the bagwell b

Attach footrest to bagwell bracket using
remaining hardware from Pack 1.

Attach seat back bracket and armrests to
seat frame using hardware from Pack 2.

Attach seat frame to rear portion of
armrest using hardware from Pack 2.
Be sure to place hardware as shown.




\ I}ggegzhng o\ the model, of G- Serles
I Il fact ry struts SI reta
7/ KI/ ) *\

s with hard

Reinstall front seat backs using hardware
retained in Step 3.

Attach lower location of armrests to
footrests using remaining hardware from
Pack 3. Tighten all hardware.

IMPORTANT: The following steps
are for installing seat cushions (sold
separately).

Attach seat back brackets to rear seat
back using hardware from Pack 4. 4

Tighten hardware. P

N

|




\

a

s /,, /

\Instal ar seat b cushlon to seat back
ort bracket”usin nlng\hardyfare
om Pack ighten H ware.

/\/

Reattach canopy using hardware
retained from Step 1.

%
)

1. Place HD bracket on flip seat as shown.
Align bracket holes to the flip seat mounting
holes.

2. Make sure the thickest part of the seat
bottom points towards the footrest. Center
seat bottom from left to right on flip frame.
Press cushion firmly against HD bracket
and seat frame. Using provided hardware
tighten the seat bottom to seat frame as
shown.

INSTALLATION COMPLETE

VISIT WWW.MYMADJAX.C

1M FOR MORE INSTALLATIO VlD% }



AT/
X/E/ PACK

8X MM BOLT
13X25Mm HEX BOLT

\4 \8x17MM FLAT WASHER
4 2, 8Mm-LoOcK NUT

2 10%X20MM FLAT WASHER
\. 6 10MM LOCK NUT

V'

' PACK 2
6 10x70MM HEX BoOLT
2 10X40MM COUNTERSUNK
14 10X20MM FLAT WASHER
8 10MM LOCK NUT

2 RUBBER SPACER

PAck 3
4 10x70MM HEX BoOoLT
8 10xXx20MM FLAT WASHER

4 10MM LOCK NUT

PACK 4

2 10x45 HEX BOLT

4 10Xx20MM FLAT WASHER
2 10MM LOCK NUT

4 6x25mMM HEX BoOLT

4 6MM LOCK WASHER

4 6X17MM FLAT WASHER

PAck 5
8 8X35MM COUNTERSUNK &

Yamaha®, Yamaha® Drive®, G-14°, G-16°, G-19°, and G-22° are registered trademarks of Yamaha Golf-Car Company (“Yamaha”). Reference to Yamaha®,
Yamaha® Drive®, any of the G-Series of Golf Carts, or any of Yamaha’s trademarks, word marks, or products is only for purposes of identifying, golf cart

with which this Madjax product is compatible. Madjax products are aftermarket parts and are not original equipment parts. Madjax is not connected
affiliated with, sponsored by, or endorsed by Yamaha or anysarent orybsmary companies. / 7

NV ETEON A\




